[bookmark: _GoBack]After doing some research your collect the following data related to overhead (OHD) and possible causal factors: 
[image: ]
Requirement #1   Using the data above, which has also been provided electronically in Excel, run the following regression analyses:
· Linear regression analyzing total overhead cost and units sold
· Linear regression analyzing total overhead cost and machine hours used
· Multiple regression analysis analyzing total overhead cost along with both units sold and machine hours used
Requirement #2   Based on the results from the three regression analyses determine which correlation provides the best estimate of the total cost equation.  Explain why you selected the correlation that you did.   
Requirement #3  Write out the total cost equation using the results from the multiple regression test.
Requirement #4   Create a “Contribution” formatted income statement using the results from the multiple regression test.  Use the following additional information regarding machine hours, used by each product, which has also been provided in Excel electronically:
[image: ]
Reference the following sales volumes, by product, for your cost allocation related to units sold:
[image: ]
Use the following template as a guide for the format of your “Contribution” Income Statement:
[image: ]
Requirement #5  	Compute the following:
· Break-even point in units  &  Break-even point in sales dollars
· Targeted profit point in units (use $50,000 as your targeted profit point)
· Margin of Safety
Requirement #6  	A new customers has surfaced.  That customer has asked you to consider producing a special one-time order for them.  This special order would require a modification to the recipe that will slightly increase the variable cost per unit.  Furthermore, there would be a small fixed cost addition.  The details for the order as follows:
[image: ]
Conduct a differential analysis regarding this special order.  Would you accept this order under the conditions provided?  Explain and defend your position.
Requirement #7:  Your management team has asked you to consider investing in a new piece of equipment.  The details of that investment opportunity are following: [image: ]
The discount rate for this project is 5%.  Compute the following:
· Net Present Value  & Internal Rate of Return
Would you recommend investing in this new piece of equipment?  Explain and defend your position.
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Post Workout

Monthly Volume: 60,000
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REVENUE Total |perunit]
Sales s $ - s - $
VARIABLE COSTS
Direct Materials $ $ $ $ $ $ $ - s - $ $
Direct Labor $ $ $ $ $ $ $ - s - $ $
Fringe Benefits on Direct Labor | § s s s s s s = s = s s
Variable Overhead
Based on Units $ $ $ $ $ $ $ - s - $ $
Based on Machine Hours = =
TOTAL VARIABLE COST $ $ $ $ $ $ $ - |8 - $ $
CONTRIBUTION MARGIN $ $ $ $ $ $ $ - s - $ $
FIXED COSTS
Fixed Costs $ $
OPERATING INCOME S B
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Modifications would require the following changes:

Incremental variable costs
Fixed Costs Needed:

Volume of Special Order:
Selling Price of Special Order:

$

0.04

$5,500.00

S

60,000
140
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Cost of New Equipment: $  185,000.00
Cost of Shipping & Installation of New Equipment: 18,000.00
Total Cost of Equipment (New): S 203,000.00

Projected Cash In-Flows (By Year)

Year1 s 39,000.00
Year2 s 40,000.00
Year3 s 58,000.00
Yeara s 50,000.00
Year5 S 50,000.00
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YEAR | MONTH MFG OHD NON MFG OHD TOTAL OHD UNITSSOLD | MACH HOUR USED
2011 _[january. S 101,147.00] s 20,20000 | § 121,347.00 235,000 14,000
2011_|February s 1505008 20,10000 | § 135,135.00 238,000 15,000
2011 [March s 10478700 19,600.00 | 124,387.00 240,000 14,300
2011_|april s mssaro0]s 19,500.00 | 138,041.00 265,000 15,680
2011 [May s 1003100] s 20,00000 | § 140,031.00 266,000 17,000
2011 iune S 1548700 20,400.00 | § 145,887.00 274,500 19,500
2011 Jiuly S 12455500 20,500.00 | § 145,055.00 275,000 20,000
2011 _|August s 13041200(s 2035000 | § 150,762.00 285,000 20,100
2011 [September | 14503000 | § 20,050.00 | § 165,080.00 287,000 24,000
2011_[October s 1msusoos 19,950.00 | 148,065.00 278,000 19,801
2011 |November [$ 12715000 $ 20,600.00 | § 147,750.00 275,000 19,999
2011 |December | $ 12622500 $ 20,62000 | § 146,845.00 271,250 19,850
2012 [january. S 945000 s 20,500.00 | § 119,950.00 232,000 15,000
2012_|February s 11,9900 20,28000 | § 132,279.00 234,000 15,500
2012 [March S 11256800 20,560.00 | § 133,128.00 233,000 15,500
2012_|april s 10878700 20,560.00 | § 129,347.00 231,000 14,850
2012_[May s 1105000 20,158.00 | § 138,208.00 266,000 16,500
2012_iune s 14532008 2017600 | § 144,708.00 269,000 19,500
2012 [uuly s 131050008 2019200 | § 151,446.00 284,000 19,999
2012 _|August s 13055500 s 20,490.00 | § 151,045.00 286,000 20,000
2012 [September | 145,000.00 | § 2053200 | § 169,533.00 290,000 25,000
2012_[October s 15633.00]8 20,572.00 | § 146,207.00 274,500 19,850
2012 |November |$ 12413100 $ 20,490.00 | § 144,621.00 273,250 19,787
2012 |December | $  124,665.00 | $ 20,562.00 | 145,227.00 271,450 19,895
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